ALGEBRAIC EQUATIONS 9, 10, 11
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1. Solve for x:
a i
) 4

2. Solve for x:
a _
) 3

3. Solve for x:

a) 2
4. Solve for x:

13
a —_
) 2

5. Solve for x:

a) 10

6. Solve for x: 4

a) 1

7. Solve for x:

8. Solve for x:

a) [-5,-2)

5 +7=x+17
4
b) =
) 3
3(x-9)=8
b) 15

S7[-2x-5+3(x+1)]=3x -5

b) -5

8<2-3x<17

b) (-5,-2]

Name
Grade

c) 1

c) 10

c) 15

c) [-5.2)

d) g e) not given

d) % e) not given

d) -25 e) not given
5 .

d) > e) not given

d) —? e) not given

d) -15 e) not given
1 .

d) [_E’OOJ e) not given

d) (-5.2] e) not given



9. Solve for x; 6x < 3x

10.

11.

12.

13.

14.

15.

16.

17.

18.

a) never true b) always true
Solve for x: |x—8 =12

a) 20 b) 4 and -20
Solve for x: |x+8|+3=8

a) 3,13 b) 3, -13
Solve for x: [3x+7|-6=-10

a) -1 b) 1, =t

3 3

Solve for x: x*—x+56=0

a) 7i, 8i b) 7, -8
Solve for x: —x* =49

a) 17 b) +7i
Solve for x;: 2x?> =—-18x—36

a) 6, -3 b) -3, -6
Solve for x: (9x+7)* =11

a) —7+411 b) i§
Solve for x: x* =—(5x* +6X)

a) 2,3 b) 0,2,3
Solve for x: x*—64=0

a) 4, —2+2i\3 b) 4,2+2\5

c) (-,0)

c) -4

c) -3, -13

c) -7, 8

c) 6, 3

0 —7+411

c) -3,-2,0

c) 4,2+2i/6

d)

d)

d)

d)

d)

(0.)

-4 and 20

-3, 13

no solution

d) -6, 12

d)

d)

d)

_7+i11

-3,2

4,2+2i

f) not given

e) not given

e) not given

e) not given

e) not given

e) not given

e) not given

e) not given

e) not given

e) not given



19.

20.

21.

22,

23.

24,

25.

26.

Solve for x; —x*+5x* =4

a) +1,+4 b) +1, +2

Solve for x; +/3x+10 =5-2x

3
, 9 b) —
)4

Solve for x: 3x—2++11+x=-1

a) no solution b) _?5
— 2 p— p—
Solve for x: X —4 = 15x +4
X—4 X—4
-4 4
a) —,3 b) —, -3
) 5 ) 5
Solve for x: L :1—L
X+ X-5
a) no solution b) 1,5
Solve for x: x_+1+x_—1 = 3
7 21
a) 0 b) 5
Solve for x; 42x?—x*=56
5 8 7 b 1.8
7 8 6 7
Simplify: (7 —2i)(3 + 8i)
a) 5+ 50i b) 5-50i

c) 1,4

c) 0,-5

c) 37 +50i

d) 1,2

d)

Nlow

d) 0

d)

d) 0,7

d)

gl

d) 37 - 50i

—5++/145

e) not given

e) not given

e) not given

e) not given

e) not given

e) not given

e) not given

e) not given



27. Solve for x; 23?1 =32

a) 1 b) 2 c) 4

28. Solve for x: log(x) + log(x-21) = 2

a) no solution b) 2 c) 4

29. Which of the following is the equivalent of log,,, x* ?

a) —2log, |x| b) —2log, x c) 2log, x

30. Solve for x: log[log(3x-2)] =0

a) = b) 1 c) 2

d) 11

d) 6

d) —-0.5log, x

d) 4

e) not given

e) not given

e) not given

e) not given
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